
Preisliste «OnSpot»

01.02.2023 | Seite 1 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

29-020000 Solenoid valve 145.00 0.20

29-021900 Solenoid Valve Incl Cable Head 210.00 1.25

29-022200 Adapter MB 6mm 34.75 0.02

35-007100 Screw M16X110 22.75 0.20

35-011500 Screw M16x50 3.25 0.10

35-018000 M6S 8.8 M16X40 FZB 2.15 0.09

35-032700 M6S 8.8 M16X60 Fzb 2.50 0.12

35-032800 Screw M16X80 3.40 0.10

35-032900 Screw M16x35 7.50 0.08

35-033300 Bolt M6S M16X100 FZB 15.50 0.18

35-033500 Screw M16X70 Fzb 2.90 0.10

35-042700 Screw M16X50 8.8 2.50 0.01

35-042800 Screw M18x1,5x180 17.40 0.40

35-044100 Screw M18x1,5x200 42.40 0.43

35-044300 M6S 10.9 M20x1.5x180 12.25 0.44

35-073100 Screw M16x120 DIN 931 8.8-A-ZnNi-B+F105 13.50 0.21

35-097500 M6S 10.9 M18X1,5X220 Fzb 38.25 0.47

35-099100 M6S 10.9  M18x1,5x230 FZB 41.25 0.49

35-100200 Screw M10x70 DIN 603 1.15 0.05

35-106200 Screw M16x95 15.00 0.17

35-106900 Screw M18 x 1,5 x 120 DIN 960 10.9 46.15

36-000100 Locking Nut M10 0.75 0.01

36-013100 Locking Nut M16 0.90 0.04

36-019300 Nyloc Nut 1.90 0.05

36-100100 Nut M10 DIN 6927 0.90 0.01

37-000700 Washer 17X30 3.00 0.01

37-028000 Washer HB300 25x40x7 11.00 0.04

37-064600 Spring 70.75 0.01

37-132300 Symbol plate Volvo 26.40 0.01

37-140600 Washer 34x60x5 DIN125 0.65 0.06

37-140800 Spring washer 24x40x4 DIN 128 4.75

37-150700 Washer 17x40x6 5.90 0.04

56-043502 Cover 126.25 0.34

56-045001 Spacing tube L=10 mm 19.15 0.35

56-045004 Spacing tube L=30 mm 19.15 0.10

56-045007 Spacing tube L=25 mm 19.15 0.10

56-045008 Spacing tube L= 35 mm 19.15 0.10

56-045009 Spacing tube L=75 mm 19.15 0.26

56-045010 Spacing tube L=65 mm 19.15 0.24

56-045012 Spacing tube L=80 mm 19.15

56-045013 Spacing tube L=40 mm 19.15 0.13

56-045014 Spacing tube L=6 mm 19.15 0.02

56-062101 Double Nut 34.75 0.26

56-062102 Double Nut 34.75 0.20

56-062103 Double nut M16x2, M20x1,5, L=50 112.00 0.30

56-062105 Double Nut 34.75 0.20

56-062109 Double Nut 34.75 0.34

56-062111 Double Nut 34.75 0.25

56-062112 Double Nut 34.75 0.20

56-062113 Double Nut 34.75 0.20

56-062114 Double Nut 34.75 0.20

56-062115 Double Nut 34.75 0.46

56-062117 Double Nut 44.00 0.48

56-062118 Double Nut 39.50 0.30

56-062119 Double nut M16x2, M24x2 58.25 0.20



Preisliste «OnSpot»

01.02.2023 | Seite 2 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-063711 Cylinder Bracket 04 right 407.50 5.00

56-063712 Cylinder Bracket 04 left 407.50 5.00

56-081901 Mounting Plate 90.65 0.00

56-081902 Mounting Plate 49.25 0.00

56-092801 Membrane 50.65 0.16

56-098201 Extension Coupling 17.50 0.06

56-098203 Extension Coupling 17.50 0.28

56-099902 Spacer 19.15 0.00

56-099905 Spacer 14.90 0.11

56-099906 Spacer 19.15 0.10

56-099915 Spacer 10x40x26 14.90 0.01

56-109803 Double Nut 34.75 0.30

56-109804 Double Nut 34.75 0.20

56-109805 Double Nut 34.75 0.30

56-109806 Double Nut 34.75 0.30

56-109808 Double Nut 34.75 0.16

56-109812 Double Nut 34.75 0.50

56-109813 Double Nut 34.75 0.10

56-109814 Double Nut 34.75 0.50

56-109818 Double nut M16x2 , M18x1,5 64.40 0.20

56-109819 Double nut M16x2, M14x2, L=65 23.00 0.26

56-123201 Vehicle bracket right Scania 04 250.00 7.96

56-123202 Vehicle bracket left Scania 04 250.00 7.96

56-134401 Vehicle bracket 04, Scania 250.00 7.50

56-134402 Vehicle bracket 04, Scania 250.00 7.50

56-134407 Vehicle bracket 04, Scania 250.00 6.10

56-134408 Vehicle bracket Scania 250.00 6.10

56-155001 Arm Right 223.75 2.20

56-155002 Arm Left** 223.75 2.20

56-155003 Arm 0401 Right 223.75 2.00

56-155004 Arm 0401 Left 223.75 2.00

56-155007 Arm 0403 Right 223.75 2.10

56-155008 Arm 0403 Left 223.75 2.10

56-155009 Arm 0404 Right 223.75 2.00

56-155010 Arm 0404 Left 223.75 2.00

56-163701 Vehicle Bracket Iveco right 250.00 6.72

56-163702 Vehicle Bracket Iveco left 250.00 6.72

56-165201 Arm 0413 Right 223.75 2.10

56-165202 Arm 0413 Left 223.75 2.10

56-188500 Cylinder bracket 03, right 407.50 2.20

56-188600 Cylinder Bracket 03, left 407.50 2.20

56-188700 Arm 03 Right 223.75 1.50

56-188800 Arm 03 Left 223.75 1.50

56-191300 Bearing Cups. Spare Part Kit 119.75 0.23

56-193700 Distance plate T=10 12.50 0.34

56-194700 Bracket 34.90 0.10

56-195900 Symbol lens 8.65 0.01

56-200600 Spacer 7.15 0.03

56-201401 Vehicle bracket Volvo S Suspension 250.00 7.38

56-201402 Vehicle bracket Volvo S Suspension 250.00 7.38

56-202401 Vehicle bracket MAN M90 right 250.00 6.82

56-202402 Vehicle bracket MAN M90 left 250.00 6.82

56-203000 Arm 0422 Right 223.75 2.20

56-205011 Spacer 26.40 0.50

56-205012 Spacer 60.50 0.50



Preisliste «OnSpot»

01.02.2023 | Seite 3 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-205102 Wheel bolt 5° L=80 24.65 0.24

56-205103 Wheel bolt 5° L=120 29.15 0.10

56-206000 Mounting kit for wheel 100 mm 57.40 0.47

56-206700 Mounting kit for wheel 80 mm 52.75 0.42

56-208600 Repair Kit 86.15 0.20

56-212500 Nut 29.40 0.30

56-212502 Nut 29.40 0.43

56-212504 Nut 29.40 0.55

56-212505 Double Nut 30.90 0.37

56-212507 Double nut 15.50 0.44

56-212508 Double Nut M33x2, M24x2, L=80 58.40 0.44

56-212601 Nut M24x3 29.65 0.20

56-212602 Nut M18x1,5  L=40 25.00 0.18

56-212603 Nut M24X2 74.50 0.17

56-212604 Nut M24X2 64.40 0.21

56-222100 Vehicle bracket Volvo 6x2 A-Ride 250.00 14.00

56-223201 Vehicle bracket kit Volvo FL 6E, RADT-A8, RADD-A8, RADDT12, RAD-A4, RAPD-A6, RADT-A6S 1128.75 27.65

56-223301 Vehicle bracket Volvo FM Air LF. RB 250.00 7.80

56-223302 Vehicle bracket Volvo FM Air RF. LB 250.00 7.80

56-223313 Chain Protection 14.90 0.30

56-223513 Tank bracket Volvo 280 145.00 6.72

56-223700 Distance Plate 26.40 0.69

56-225301 Vehicle bracket left 250.00 7.19

56-225302 Vehicle bracket right 250.00 7.19

56-225601 Vehicle bracket left MB Atego Airsus 250.00 0.00

56-225602 Vehicle bracket right MB Atego Air 250.00 5.15

56-226201 Vehicle bracket MAN M 2000 left 250.00 9.46

56-226202 Vehicle bracket MAN M 2000 right 250.00 9.46

56-226301 Vehicle bracket kit MAN E2000, F2000, M2000L 971.25 22.90

56-226401 Vehicle bracket MAN F 2000 left Air 250.00 7.61

56-226402 Vehicle bracket MAN F 2000 right Ai 250.00 7.61

56-227900 Nipple Set For Valve. 34.90 0.10

56-228000 Nipple Set For Cylinder. 66.00 0.16

56-228101 Vehicle bracket kit Renault Premium, Magnum 971.25 25.72

56-228201 Vehicle bracket left Renault Pr. Pl 250.00 7.08

56-228202 Vehicle bracket right Renault Pr. P 250.00 7.08

56-228601 Vehicle bracket left Renault Kerax 250.00 4.50

56-228602 Vehicle bracket right Renault Kerax 250.00 4.50

56-228701 Vehicle bracket kit Iveco Eurostar, Eurotech, Stralis, Trakker 1128.75 31.15

56-228801 Vehicle bracket LF, RR 250.00 8.20

56-228802 Vehicle bracket right RF, LR 250.00 8.13

56-228901 Vehicle bracket kit Volvo RAD-A4, RAP D-A6 1128.75 23.90

56-229001 Vehicle bracket left Volvo 4X2 Air 250.00 8.10

56-229002 Vehicle bracket right Volvo 4X2 Air 250.00 8.10

56-229210 Chain Protection Scania 4X2. 6X2 Ai 10.25 0.34

56-229702 Vehicle bracket kit DAF CF55, CF65, CF75, CF85, 95XF, XF95, XF105 1128.75 25.20

56-229801 Vehicle bracket left DAF 4X2 Air 250.00 7.14

56-229802 Vehicle bracket right 4X2 Air 250.00 7.14

56-229901 Vehicle bracket kit DAF 65CF,75CF, 85CF 1128.75 33.40

56-230000 Vehicle bracket left and right 4X2. 250.00 10.10

56-230101 Vehicle bracket kit Scania 4-series 1128.75 29.00

56-230201 Vehicle bracket left Scania 4x2, 6x2 250.00 9.20

56-230202 Vehicle bracket right Scania 4X2. 6 250.00 9.20

56-230301 Vehicle bracket kit Volvo RADT-A6, RADT-A8, RADD-A8 1128.75 31.30

56-230502 Vehicle bracket kit Scania P, G, R, T-series 971.25 21.80



Preisliste «OnSpot»

01.02.2023 | Seite 4 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-230601 Vehicle bracket left Scania 4X4 Air 250.00 8.93

56-230602 Vehicle bracket right Scania 4X2 Ai 250.00 8.93

56-230702 Vehicle bracket kit MAN TGS, TGX 971.25 30.10

56-230801 Vehicle bracket kit Volvo FL 6L 1128.75 26.41

56-230901 Vehicle bracket left Volvo FL 4X2 L 250.00 7.13

56-230902 Vehicle bracket right Volvo 4X2 L&H 250.00 7.13

56-231001 Vehicle bracket kit Volvo RADT-A6, RADT-A8, RADD-A8 1128.75 26.60

56-231100 Diaphragm Kit 210.00 1.01

56-231402 Veichle bracket right Neoplan 250.00 3.50

56-231502 Vehicle bracket kit Mercedes-Benz 971.25 27.73

56-231601 Vehicle bracket left 250.00 7.58

56-231602 Vehicle bracket right 250.00 7.58

56-232001 Vehicle bracket kit Volvo B10-M, B10-B, B12 1128.75 25.30

56-232102 Vehicle bracket right Volvo B10M.B1 250.00 0.00

56-232201 Vehicle bracket left Nissan air susp. 250.00 5.38

56-232202 Vehicle bracket right Nissan air susp. 250.00 5.38

56-232301 Vehicle bracket kit Nissan, UD Trucks 971.25 20.20

56-232501 Protection Onpsot Chain MAN F2000 L 41.50 0.00

56-232502 Protection Onpsot Chain MAN F2000 R 41.50 0.01

56-232601 Vehicle bracket kit Mercedes-Benz Atego 1-2 1128.75 24.20

56-232701 Vehicle bracket MB Atego left 250.00 8.40

56-232702 Vehicle bracket MB Atego right 250.00 8.40

56-233201 Vechicle bracket left Renault Midlum steel susp. 250.00 4.12

56-233202 Vechicle bracket right Renault Midlum steel susp. 250.00 4.12

56-233303 Vehicle bracket kit Renault Midlum DXI 1128.75 13.40

56-233402 Vechicle bracket Renault Midlum right 250.00 3.03

56-233501 Vehicle bracket kit Renault, Volvo 971.25 15.50

56-233601 Vechicle bracket Renault Midlum BL left 250.00 3.81

56-233602 Vechicle bracket Renault Midlum BL right 250.00 3.81

56-233702 Vehicle bracket kit Renault Midlum DXI 971.25 14.82

56-233801 Vechicle bracket Renault Midlum left air susp. 250.00 3.84

56-233802 Vechicle bracket Renault Midlum right air susp. 250.00 3.84

56-233903 Vehicle bracket kit MAN TGA 971.25 14.48

56-233904 Vehicle bracket kit MAN TGS, TGX 971.25 15.20

56-234001 Vehicle bracket MAN TGA LF. RB 250.00 5.50

56-234002 Vehicle bracket MAN TGA RF. LB 250.00 5.50

56-234003 Vehicle bracket MAN, left 250.00 3.83

56-234004 Vehicle bracket MAN, right 250.00 3.83

56-234101 Vehicle bracket left Volvo 6X2 Air 250.00 7.50

56-234102 Vehicle bracket right Volvo 6X2 Air 250.00 7.50

56-234301 Cramp 97.50 0.50

56-234601 Vehicle bracket kit MAN L2000 1128.75 22.50

56-234701 Veichle bracket left MAN L34 250.00 6.51

56-234702 Veichle bracket right MAN L34 250.00 6.51

56-234901 Veichle bracket left MB 925 250.00 8.02

56-234902 Veichle bracket right MB 925 250.00 8.02

56-235201 Vehicle bracket left MB Actros 6x4 steel susp. 250.00 8.59

56-235202 Vehicle bracket right MB Actros 6x4 steel susp. 250.00 8.59

56-235301 Vehicle bracket Neoplan LF/RR 250.00 3.54

56-235302 Vehicle bracket Neoplan RF/LR 250.00 3.54

56-235401 Vehicle bracket kit Neoplan Euroliner 1128.75 21.40

56-235601 Vehicle bracket VW LT 35 LF/RR 250.00 4.23

56-235602 Vehicle bracket VW LT 35 RF/LR 250.00 4.23

56-235901 Vehicle bracket kit Volvo B12M, B12B, B12BLE 1128.75 25.60

56-236312 Wheel Ø 190 12-Chain 420.00 5.88



Preisliste «OnSpot»

01.02.2023 | Seite 5 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-236318 Wheel Ø 190 18-Chain 420.00 5.81

56-236400 Wheel Ø 170 6-Chain 420.00 4.66

56-236411 Wheel Ø 170 6-Chain Spark Resist 965.00 5.26

56-236412 Wheel Ø 170 12-Chain 420.00 5.50

56-236418 Wheel Ø 170 18-Chain 420.00 5.40

56-236503 Wheel Kit 170 6 - Chain 781.25 8.70

56-236506 Wheel Kit 170 12-Chains 781.25 10.88

56-236507 Wheel Kit 170 6-Chains Spark Resist 1575.00 10.16

56-236509 Wheel Kit 170 18-Chains 781.25 10.54

56-236600 Bracket air tank Volvo RADT-A8 203.75 7.50

56-236700 Vehicle bracket kit DAF CF55, LF45 971.25 13.44

56-236701 Vehicle bracket left DAF LF45 250.00 3.08

56-236702 Vehicle bracket right DAF LF45 250.00 3.08

56-236800 Vehicle bracket kit Mercedes-Benz Actros, Axor, Arocs 971.25 16.50

56-236801 Vehicle bracket MB Actros left 250.00 3.64

56-236802 Vehicle bracket MB Actros right 250.00 3.64

56-236900 Vehicle bracket kit Iveco Eurocargo 1128.75 14.70

56-236901 Vehicle Bracket Iveco 140E24 left 250.00 3.80

56-236902 Vehicle Bracket Iveco 140E24 right 250.00 3.80

56-237000 Vehicle bracket kit Unimog U300, U400 1128.75 14.00

56-237019 Valve Bracket Unimog 31.25 0.50

56-237021 Vehicle bracket left Unimog 300/400 250.00 2.21

56-237022 Vehicle bracket right Unimog 300/400 250.00 2.21

56-237100 Vehicle bracket kit Unimog U500 1128.75 17.05

56-237118 Bracket Unimog 300. 400 right 250.00 2.24

56-237200 Vehicle bracket kit Iveco Eurocargo 1128.75 15.00

56-237201 Bracket Left Iveco 250.00 3.84

56-237202 Bracket Right Iveco 250.00 3.84

56-237300 Bearing kit for wheel 89.90 0.29

56-237601 Vehicle bracket left Renault Premiu 250.00 7.55

56-237602 Vehicle bracket right Renault Premi 250.00 7.55

56-238100 Vehicle bracket kit Iveco Eurocargo 1128.75 23.40

56-238101 Vehicle bracket left Iveco 140E 250.00

56-238102 Vehicle bracket right Iveco 140E 250.00

56-238200 Air tank bracket MB MP2 420.00 10.30

56-238300 Vehicle bracket kit MAN TGA 1128.75 15.30

56-238303 Vehicle bracket kit MAN TGS 1128.75 15.60

56-238401 Vehicle bracket left Hino Air 250.00 5.49

56-238402 Vehicle bracket right Hino Air 250.00 5.49

56-238500 Vehicle bracket kit Mitsubishi Super Great 971.25 22.82

56-238501 Vehicle bracket left  Mitsubishi Air 250.00 6.34

56-238502 Vehicle bracket right  Mitsubishi Air 250.00 6.34

56-238601 Vehicle bracket LR/RF Isuzu Air 250.00 7.27

56-238602 Vehicle bracket RR/LF Isuzu Air 250.00 7.27

56-238605 Vehicle bracket kit Isuzu Gigamax 1128.75 26.88

56-238800 Bracket 69.00

56-238801 Spacer 250.00 0.36

56-238901 Vehicle bracket left Renault Kerax DXI 6x4,6x6,8x4 & Volvo RADD-TRI RADD-TR2 250.00 5.00

56-238902 Vehicle bracket right Volvo B-ride Renault Kerax DXI 6x4,6x6,8x4 &Volvo RADD-TR1 RADD-TR2 250.00 5.00

56-238903 Vehicle bracket kit Renault Premium DXI, Range C 971.25 21.20

56-239000 Vehicle bracket kit MAN TGA 1128.75 22.90

56-239001 Vehicle bracket left MAN H70 250.00 5.95

56-239002 Vehicle bracket right MAN H70 250.00 5.95

56-239201 Vehicle bracket left Sisu Air 250.00 7.56

56-239202 Vehicle bracket right Sisu Air 250.00 7.56



Preisliste «OnSpot»

01.02.2023 | Seite 6 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-239300 Vehicle bracket kit MAN TGA 1128.75 23.63

56-239301 Vehicle bracket MAN steel susp. 250.00 4.84

56-239400 Vehicle bracket kit Iveco Eurocargo 1128.75 14.50

56-239401 Vehicle bracket left Iveco 150E 28 250.00

56-239402 Vehicle bracket right Iveco 150E 28 250.00

56-239701 Vehichle bracket left Scania 250.00 9.77

56-239702 Vehichle bracket right Scania 250.00 9.77

56-239800 Vehicle bracket kit Scania P, G, R, T-series 971.25 32.30

56-240201 Vehicle bracket left MB Actros 4X4 P 250.00 8.50

56-240202 Vehicle bracket right MB Actros 4X4 P 250.00 8.50

56-240501 Vechile bracket left Iveco 250.00 8.08

56-240502 Vechile bracket right Iveco 250.00 8.08

56-240800 Vehicle bracket kit Iveco Eurocargo 971.25 17.62

56-240901 Vehicle bracket left Iveco Eurocargo 250.00 4.50

56-240902 Vehicle bracket right Iveco Eurocargo 250.00 4.50

56-241002 Electric Switch Iveco, Terberg 157.50 0.10

56-241003 Switch kit MAN 157.50 0.08

56-241004 Switch Mercedes-Benz 157.50 0.06

56-241005 Switch Mercedes-Benz 157.50 0.09

56-241006 Electric Switch Volvo 157.50 0.06

56-241007 Electric Switch Scania 4-Series 106.65 0.06

56-241008 Electric Switch DAF XF 157.50 0.06

56-241009 Switch Scania, Generation <5 157.50 0.09

56-241010 Electric switch Volvo, Renault 157.50 0.08

56-241011 Spare part Switch 157.50 0.06

56-241012 Switch 157.50 0.06

56-241013 Switch 157.50 0.09

56-241014 Spare part Switch 76.90 0.06

56-241015 Switch kit MAN 157.50 0.08

56-241016 Switch Mercedes-Benz 157.50 0.06

56-241017 Spare part Switch 77.00 0.06

56-241018 Switch Iveco Eurocargo 157.50 0.09

56-241019 Switch kit Mercedes-Benz 157.50 0.08

56-241020 Switch kit Volvo 157.50 0.08

56-241021 Switch Volvo bus 157.50 0.08

56-241022 Switch DAF Euro 6 FAN, FAQ, FTS 157.50 0.09

56-241023 Switch VDL/ MAFI 157.50 0.14

56-241024 Switch Renault Range 157.50 0.09

56-241025 Switch Renault Range D 367.50 0.04

56-241100 Kickback guard kit 52.65 0.10

56-241200 Stopper Spring Kit 66.00 0.06

56-241300 Mounting kit for wheel 120 mm 67.75 0.66

56-241602 Vehicle bracket kit Renault Kerax DXI 1128.75 17.30

56-241701 Vehicle bracket left Volvo 250.00

56-241702 Vehicle bracket right Volvo 250.00

56-241900 Vehicle bracket kit Scania P, G, R, T, L-series 971.25 17.50

56-242001 Vehicle bracket left Scania 4X4 Steel suspension 250.00 3.56

56-242002 Vehicle bracket right Scania 4X4 Steel suspension 250.00 3.56

56-242500 Vehicle bracket kit Scania P, G, R, T-series 1128.75 29.09

56-242601 Vehicle bracket Scania air 2 belows 250.00 9.90

56-242602 Vehicle bracket Scania air 2 belows 250.00 9.90

56-242700 Vehicle bracket kit Volvo, UD Trucks 971.25 22.60

56-242801 Vehicle bracket Volvo B7R. left 250.00 5.79

56-242802 Vehicle bracket Volvo B7R. right 250.00 5.79

56-243101 Vehicle bracket left Sprinter/Crafter 250.00 3.51



Preisliste «OnSpot»

01.02.2023 | Seite 7 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-243102 Vehicle bracket right Sprinter/Crafter 250.00 3.51

56-243400 Radius washer 36.75 0.02

56-243600 Vehicle bracket kit Mercedes-Benz Atego 1 1128.75 22.80

56-243701 Vehicle bracket left MB Atego 250.00 7.08

56-243702 Vehicle bracket right MB Atego 250.00 7.08

56-243703 Vehicle bracket MB Atego 2, left 250.00 7.08

56-243704 Vehicle bracket MB Atego 2, right 250.00 7.08

56-243900 Vehicle bracket kit MAN TGM, Euro 5 1128.75 12.00

56-243901 Vehicle bracket kit MAN TGM, Euro 6 1128.75 12.20

56-244001 Vehicle bracket left MAN TGM N08 250.00 2.96

56-244002 Vehicle bracket right MAN TGM N08 250.00 2.96

56-244201 Vehicle bracket Sisu left 250.00 5.50

56-244202 Vehicle bracket Sisu right 250.00 5.50

56-244301 Spacer 80.50 0.25

56-244302 Spacer 41.00

56-244601 Vehicle bracket left Ford Transit 250.00 4.27

56-244602 Vehicle bracket right Ford Transit 250.00 4.27

56-244700 Vehicle bracket kit Renault Mascot 1128.75 15.00

56-244801 Vehicle bracket 012 Renault Mascot DXI 160, left 250.00 4.20

56-244802 Vehicle bracket 012 Renault Mascot DXI 160, right 250.00 4.20

56-244901 Vehicle Bracket Ford Transit left 250.00 6.28

56-244902 Vehicle Bracket Ford Transit right 250.00 6.28

56-245101 Vehicle bracket Renault/Volvo left 250.00 9.49

56-245102 Vehicle bracket Renault/Volvo right 250.00 9.49

56-245110 Bracket Left 35.00 0.30

56-245111 Bracket Right 35.00 0.50

56-245400 Spare part kit fitting 236.25 0.17

56-245500 Spare part kit air tank 355.00 7.85

56-246100 Vehicle bracket kit MAN TGM 971.25 32.30

56-246402 Wheel disc Ø170 Without chain plate 223.75 1.20

56-246500 Bolt kit Onspot wheel 33.00 0.16

56-246601 Chain plate 6-chains. Ø190 250.00 3.26

56-246602 Chain plate 6-chains. Ø170 250.00 3.20

56-246603 Chain plate 6-chains. Ø190 Sparkle resistant 551.25 3.90

56-246604 Chain plate 6-chains. Ø170 Sparkle resistant 551.25 3.73

56-246605 Chain plate 12-chains. Ø190 328.75 4.15

56-246606 Chain plate 12-chains. Ø170 328.75 4.10

56-246607 Chain plate 12-chains long. Ø190 472.50 4.92

56-246608 Chain plate 18-chains. Ø190 355.00 4.13

56-246609 Chain plate 18-chains. Ø170 355.00 3.92

56-246700 Air tank bracket kit DAF XF 105 387.50 4.75

56-246900 Crossbeam Scania 492.50 17.30

56-247103 Vehicle bracket left MB Sprinter 515-518/ VW Crafter 50 250.00 5.38

56-247104 Vehicle bracket right MB Sprinter 515-518/ VW Crafter 50 250.00 5.37

56-247200 Vehicle bracket kit Iveco Daily 1128.75 17.80

56-247301 Vehicle Bracket Iveco Daily left 250.00 5.33

56-247302 Vehicle Bracket Iveco Daily right 250.00 5.33

56-247400 Vehicle bracket kit MAN TGL 971.25 14.60

56-247501 Vehicle bracket MAN TGL N03. left 250.00 3.71

56-247502 Vehicle bracket MAN TGL N03. right 250.00 3.71

56-247600 Vehicle bracket kit Nissan Atleon 1128.75 16.60

56-247701 Vehicle bracket Nissan Atleon. left 250.00 5.68

56-247702 Vehicle bracket Nissan Atleon.right 250.00 5.68

56-247800 Vehicle bracket kit MAN TGM 971.25 30.00

56-248100 Spacer 20.75 0.40



Preisliste «OnSpot»

01.02.2023 | Seite 8 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-248200 Vehicle bracket kit MAN TGM 971.25 12.50

56-248301 Vehicle bracket MAN TGM N 38 left 250.00 2.90

56-248302 Vehicle bracket MAN TGM N 38 right 250.00 2.90

56-250000 Vehicle bracket kit Van Hool Altano 1128.75 23.50

56-250111 Clamp VAN HOOL 114.90

56-250701 Bracket left MB Sprinter 515-518 250.00 4.30

56-250702 Bracket Right MB Sprinter 515-518 250.00 4.30

56-250800 Vehicle bracket kit Mercedes-Benz Sprinter 2xx, 311-319, VW Crafter 30, 35 1128.75 29.00

56-250901 Vehicle bracket left Sprinter and VW Crafter 250.00 7.35

56-250902 Vehicle bracket right Sprinter and VW Crafter 250.00 7.35

56-251300 Vehicle bracket kit MAN TGM 971.25 28.20

56-251700 Angular toggle joint kit 94.40 0.39

56-253000 Vehicle bracket kit Volvo, Renault 971.25 13.73

56-253200 Vehicle bracket kit Iveco Eurocargo 971.25 15.10

56-253303 Vehicle bracket left Iveco Eurocargo 250.00

56-253304 Vehicle bracket right Iveco Eurocargo 250.00 4.59

56-253600 Vehicle bracket kit Volvo RADT-GR, RADD-GR, RADDT-GR, RAPDT-GR, RAPDD-GR 1128.75 21.69

56-253703 Vehicle bracket Volvo FH4, left 250.00 5.25

56-253704 Vehicle bracket Volvo FH4, right 250.00 5.25

56-253800 Vehicle bracket kit Dennis Eagle 971.25 21.60

56-253901 Vehicle bracket Dennis Eagle Elit 2, left 250.00

56-253902 Vehicle bracket Dennis Eagle Elit 2, right 250.00 5.23

56-254000 Vehicle bracket kit Iveco Daily 971.25 16.40

56-254101 Bracket LF RR 250.00 4.11

56-254102 Bracket RF LR 250.00 4.11

56-254400 Vehicle bracket kit Opel Movano, Renault Master, Nissan NV 400 1128.75 17.88

56-254601 Complete cylinder 04 650.00 4.80

56-254602 Complete cylinder 04 650.00 4.90

56-254603 Complete cylinder 04 650.00 4.73

56-254700 Vehicle bracket kit Scania P, G, R, T-series, Generation <5 1128.75 21.60

56-254801 Vehicle bracket SCANIA, left 250.00 5.26

56-254802 Vehicle bracket SCANIA, right 250.00 5.40

56-255000 Vehicle bracket kit Renault Kerax DXI 971.25 21.10

56-255100 Vehicle bracket kit Mercedes-Benz Actros, Arocs 971.25 29.50

56-255200 Air Compressor Kit 12V 945.00 11.60

56-255300 Spare part kit compressor 793.75 3.85

56-255500 Vehicle bracket kit ISUZU Giga 4x2 971.25 22.00

56-255601 Vehicle bracket ISUZU, right 250.00

56-255602 Vehicle bracket ISUZU, left 250.00

56-255900 Vehicle bracket kit Mercedes-Benz Actros New, Antos, Econic Bluetec 6 971.25 30.20

56-256001 Vehicle bracket MB ACTROS MP4, left 250.00 7.20

56-256002 Vehicle bracket MB ACTROS MP4, right 250.00 7.20

56-256500 Vehicle bracket kit Scania P, G, R, T-series 1128.75 31.97

56-257300 Power Manometer Kit 387.50 0.34

56-257400 Spare part kit micro switch 183.75 0.13

56-257501 Vehicle bracket Volvo, right 250.00 5.00

56-257502 Vehicle bracket Volvo, left 250.00 5.00

56-257600 Vehicle bracket kit Volvo RAD-GR, RAPD-GR 1128.75 24.00

56-258000 Vehicle bracket kit Volvo, UD Trucks 971.25 17.50

56-258500 Vehicle bracket kit Volvo Bus B11, B13 1128.75 24.26

56-258700 Vehicle bracket kit Mercedes-Benz Atego New 1128.75 22.86

56-258903 Vehicle bracket MAN TGM, left 250.00 3.97

56-258904 Vehicle bracket MAN TGM, right 250.00 3.97

56-259102 Vehicle bracket kit MAN TGM N16, N26 971.25 17.10

56-259800 Vehicle bracket kit Iveco Daily 971.25 17.10



Preisliste «OnSpot»

01.02.2023 | Seite 9 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-260000 Vehicle bracket kit DAF CF, XF Euro 6 971.25 19.20

56-261001 Vehicle bracket, left VOLVO RAD-KR/RADT-KR 250.00 7.20

56-261002 Vehicle bracket, right VOLVO RAD-KR/RADT-KR 250.00 7.20

56-261100 Vehicle bracket kit Volvo, Renault 971.25 23.10

56-261300 Vehicle bracket kit Volvo RAD-GR 1128.75 25.49

56-261401 Vehicle bracket DAF, left 250.00 5.30

56-261402 Vehicle bracket DAF, right 250.00 5.30

56-261500 Vehicle bracket kit DAF CF, XF Euro 6, FA,FAT,FTT,FAS 971.25 22.30

56-261900 Vehicle bracket kit Terberg YT182/YT222 1128.75 17.60

56-262200 Vehicle bracket kit Mercedes-Benz Sprinter 5xx, VW Crafter 50 971.25 23.00

56-262300 Vehicle bracket RF/LR Mercedes-Benz Sprinter 5xx, VW Crafter 50 250.00 6.50

56-262400 Vehicle bracket LF/RR Mercedes-Benz Sprinter 5xx, VW Crafter 50 250.00 6.50

56-262800 Vehicle bracket kit MAN TGS, TGX 971.25 23.34

56-263300 Vehicle bracket kit Volvo RADT-AR 1128.75 21.00

56-263600 Vehicle bracket kit Terberg RT403 1128.75 14.30

56-264000 Vehicle bracket kit Scania P, G, R, T-series, Generation <5 1128.75 19.10

56-264100 Vehicle bracket right 250.00 4.50

56-264200 Vehicle bracket left 250.00 4.60

56-264300 Vehicle bracket kit Mercedes-Benz Sprinter, VW Crafter, Iveco Daily 971.25 20.85

56-265000 Vehicle bracket kit VDL Futura 1128.75 18.80

56-265700 Vehicle bracket kit Iveco Crossway 971.25 22.55

56-266400 Vehicle bracket kit Renault D 1128.75 14.70

56-270010 Spacer L=10 19.15 0.10

56-270015 Spacer L=15 19.15 0.08

56-270018 Spacer L=18 19.15 0.18

56-270025 Spacer L=25 19.15 0.14

56-270030 Spacer L=30 19.15 0.15

56-270035 Spacer L=35 19.15 0.36

56-270040 Spacer L=40 19.15 0.20

56-270045 Spacer L=45 19.15 0.46

56-270050 Spacer L=50 19.15 0.52

56-270055 Spacer L=55 19.15 0.30

56-270060 Spacer L=60 19.15 0.30

56-270065 Spacer L=65 19.15 0.33

56-270070 Spacer L=70 19.15 0.36

56-270075 Spacer L=75 19.15 0.76

56-270080 Spacer L=80 19.15 0.82

56-270090 Spacer L=90 19.15 0.46

56-270100 Spacer L=100 19.15 0.51

56-270110 Spacer L=110 19.15 0.56

56-270125 Spacer L=125 19.15 0.64

56-318700 Clip 18.90 0.03

56-320101 Valve Kit 24V 433.75 1.28

56-320102 Valve Kit 12V 433.75 1.20

56-320103 Valve kit 24V, Mercedez-Benz 433.75 1.29

56-320104 Valve Kit 24V ADR 597.50 1.50

56-320400 Hose Frame 10.90 0.01

56-320601 Arm stopper 012 (stamped no. 56-318803) 250.00 0.50

56-320602 Arm stopper 012 (stamped no. 56-318804) 250.00 0.50

56-320603 Arm stopper 012 (stamped no. 56-318807) 250.00 0.52

56-320604 Arm stopper 012 (stamped no. 56-318808) 250.00 0.50

56-320700 Arm fasteners 012-016 39.75 0.06

56-320701 Fastening parts arm 76.00 0.10

56-320800 Nipple Kit Cylinder 012 70.00 0.15

56-320801 Nipple Kit Cylinder 012 78.40 0.20



Preisliste «OnSpot»

01.02.2023 | Seite 10 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-321003 Arm kit (stamped no.  56-321101) 210.00 1.49

56-321004 Arm kit (stamped no.  56-321102) 210.00 1.50

56-321009 Arm kit (stamped no. 56-321401) 210.00 1.70

56-321010 Arm kit (stamped no.  56-321402) 210.00 1.70

56-321011 Arm kit (stamped no.  56-321501) 210.00 1.67

56-321012 Arm kit (stamped no.  56-321502) 210.00 1.65

56-321013 Arm kit (stamped no.  56-321600) 210.00 1.50

56-321019 Arm kit (stamped no.  56-321901) 210.00 1.60

56-321020 Arm kit (stamped no.  56-321902) 210.00 1.60

56-321021 Arm kit (stamped no.  56-322101) 210.00 2.05

56-321022 Arm kit (stamped no.  56-322102) 210.00 2.04

56-321023 Arm kit (stamped no.  56-322201) 210.00 1.68

56-321024 Arm kit (stamped no.  56-322202) 210.00 1.67

56-321025 Arm kit (stamped no.  56-322301) 210.00 1.70

56-321026 Arm kit (stamped no.  56-322302) 210.00 1.70

56-321029 Arm kit (stamped no.  56-322501) 210.00 1.90

56-321030 Arm kit (stamped no.  56-322502) 210.00 2.00

56-321031 Arm incl. mounting components 210.00 1.60

56-321032 Arm kit (stamped no. 56-323301) 210.00 2.36

56-321033 Arm kit (stamped no. 56-323302) 210.00 2.38

56-321034 Arm kit (stamped no.56-323501) 210.00 1.97

56-321035 Arm kit (stamped no. 56-323502) 210.00 2.05

56-321040 Arm kit (stamped no. 56-736200) 210.00 2.20

56-321041 Arm kit (stamped no. 56-736100) 210.00 2.20

56-321101 Arm kit 210.00 1.23

56-321102 Arm kit 210.00 1.23

56-322101 Arm Onspot LF,RR 210.00 1.75

56-322102 Arm Onspot RF,LR 210.00 1.75

56-324003 Arm kit (stamped no.  56-322701) 210.00 1.63

56-324004 Arm kit (stamped no.  56-322702) 210.00 1.60

56-324007 Arm kit (stamped no.  56-323001) 210.00 1.80

56-324008 Arm kit (stamped no.  56-323002) 210.00 1.80

56-324009 Arm kit (stamped no.  56-323101) 210.00 1.53

56-324010 Arm kit (stamped no.  56-323102) 210.00 1.52

56-324015 Arm kit (stamped no. 56-353000) 210.00 1.54

56-324016 Arm kit (stamped no. 56-353100) 210.00 1.54

56-329000 T-joint kit 012-016 34.75 0.04

56-329100 Plastic Hose 6/4 20 m 012-016 78.40 0.60

56-329200 T-Joint MB 33.40 0.02

56-360100 Arm kit (stamped no. 56-350100) 210.00 2.30

56-360200 Arm kit (stamped no. 56-350200) 210.00 2.20

56-360300 Arm kit (stamped no. 56-350300) 210.00 2.30

56-360400 Arm kit (stamped no. 56-350400) 210.00 2.20

56-360500 Arm kit (stamped no. 56-350500) 210.00 2.00

56-360600 Arm kit (stamped no. 56-350600) 210.00 2.00

56-360700 Arm kit (stamped no. 56-350700) 210.00 2.40

56-360800 Arm kit (stamped no. 56-350800) 210.00 2.40

56-360900 Arm kit (stamped no. 56-350900) 210.00 2.00

56-361000 Arm kit (stamped no. 56-351000) 210.00 2.00

56-361100 Arm kit (stamped no. 56-351100) 210.00

56-361200 Arm kit (stamped no. 56-351200) 210.00

56-361300 Arm kit (stamped no. 56-351300) 210.00 2.00

56-361400 Arm kit (stamped no. 56-351400) 210.00 2.00

56-361500 Arm kit (stamped no. 56-351500) 210.00 2.30

56-361600 Arm kit (stamped no. 56-351600) 210.00 2.30



Preisliste «OnSpot»

01.02.2023 | Seite 11 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-361700 Arm kit (stamped no. 56-351700) 210.00 2.00

56-361800 Arm kit (stamped no. 56-351800) 210.00 2.00

56-700500 Onspot 016 2677.50 11.90

56-700501 Onspot 016 without valve kit 2356.25 10.70

56-700502 Onspot 016 12V 2677.50 11.90

56-700503 Onspot 016, Mercedes-Benz 2677.50 11.95

56-700600 Onspot 016 (stamped no. 56-330100) 1148.75 5.40

56-700601 Onspot 016 (stamped no. 56-330200) 1148.75 5.40

56-700700 Arm stopper 016 (stamped no. 56-331200) Std 205° 250.00 0.40

56-700701 Arm stopper 016 (stamped no. 56-331300) Std 205° 250.00 0.40

56-700702 Arm stopper 016 (stamped no. 56-332700) 146° 250.00 0.41

56-700703 Arm stopper 016 (stamped no. 56-332800) 146° 250.00 0.41

56-700704 Arm stopperkit 016, 146° 498.75 0.75

56-701000 Onspot 016 chain. arm axle kit 466.25 0.80

56-701100 Nipple Kit Cylinder 016 68.40 0.09

56-701200 Flow regulator Onspot 016 25.00 0.04

56-702800 Double nut kit Scania 92.50 2.25

56-703200 Vehicle bracket kit Ford Transit 1128.75

56-703500 Vehicle bracket kit Renault Range C, K 1128.75 17.52

56-704100 Automatic drain valve kit for air tank 276.25 0.55

56-704600 Protection plate kit Scania 276.25 1.69

56-704700 Tank bracket kit Volvo RAD-GR 545.00 3.51

56-704800 Vehicle bracket kit DAF LF Euro 6 971.25 23.40

56-707600 Vehicle bracket kit Volvo RAD-G2 1128.75 23.10

56-709400 Vehicle bracket kit MAFI 971.25 14.90

56-709500 Vehicle bracket kit, Setra 971.25 19.98

56-710200 Vehicle bracket kit Volvo RAD-G4 971.25 22.04

56-710700 Switch Scania, Generation 6 157.50 0.16

56-711300 Check valve kit Onspot 016 98.25 0.95

56-711800 Vehicle bracket kit Scania Buses, K-chassis 971.25 29.75

56-712600 Vehicle bracket kit Mercedes-Benz Atego New 971.25 30.65

56-712800 Vehicle bracket kit Renault Range C 971.25 26.16

56-712900 Vehicle bracket kit MAN TGM, Euro6 971.25 23.35

56-713200 Vehicle bracket kit Mercedes-Benz Atego New 971.25 18.80

56-713400 Vehicle bracket kit Iveco Eurocargo 971.25 17.90

56-714100 Vehicle bracket kit Volvo B8R 971.25 23.01

56-714200 Vehicle bracket kit Mercedes-Benz Atego 971.25 21.80

56-714700 Onspot Indicator light kit 77.25 0.21

56-715300 Vehicle bracket kit Iveco Stralis Euro 6 971.25 28.90

56-715800 Onspot compressor Filter 66.50 0.07

56-716700 Vehicle bracket kit Volvo bus B8R, B11R 971.25 24.90

56-717200 Vehicle bracket kit Volvo bus B8R, 4x2 971.25 20.15

56-717500 Vehicle bracket kit MAN TGE, VW Crafter single wheel 971.25 24.50

56-718300 Switch Volvo 157.50 0.09

56-718400 EBS bracket kit 82.90 0.70

56-718500 Vehicle bracket kit Hino Profia 971.25 20.15

56-719200 Vehicle bracket kit Scania P, G, R, T-series 971.25 26.80

56-719300 Vehicle bracket kit Scania P, G, R, T, S-series, Generation 6 971.25 30.50

56-719400 Vehicle bracket kit Scania P, G, R, T, S-series, Generation 6 971.25 26.80

56-719500 Vehicle bracket kit MAN TGE, VW Crafter twin wheel 971.25 15.30

56-719800 Onspot cylinder holder (stamped no. 56-700000) 145.00 1.37

56-719900 Onspot cylinder holder (stamped no. 56-700100) 145.00 1.37

56-720000 Check valve 101.50 0.05

56-720100 Drain with ring 69.00 0.10

56-720200 Angled distance plate, 1° 126.25 0.08



Preisliste «OnSpot»

01.02.2023 | Seite 12 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-720300 Angled distance plate, 2° 126.25 0.08

56-720400 Angled distance plate, 4° 126.25 0.08

56-720500 Angled distance plate, 1° 126.25 0.16

56-720600 Angled distance plate, 2° 126.25 0.08

56-720700 Angled distance plate, 4° 126.25 0.08

56-720800 Angled distance plate, 6° 126.25 0.08

56-721000 Spare part kit Valve console 137.50 0.57

56-721100 Spare part kit Valve block 288.75 0.16

56-721200 Spare Part kit Fittings and hoses 123.50 0.10

56-721300 Spare part kit Rubber bushings 177.50 0.12

56-721400 Spare part kit fittings air tank 171.25 0.30

56-721500 Spare part kit Compressor 741.25 2.97

56-722000 Vehicle bracket kit Mercedes Sprinter 2xx, 3xx and 4xx 971.25 21.60

56-723001 Vehicle bracket kit Hino S`elega 971.25 30.50

56-725000 Chainwheel Ø 190 6-Chain 472.50 5.00

56-725100 Chainwheel Ø 190 6-Chain Spark Resist 1056.25 5.35

56-725200 Chainwheel Ø 190 12-Chain 472.50 5.65

56-725300 Chainwheel Ø 190 12-Chain Long 472.50 5.00

56-725400 Chainwheel Ø 190 18-Chain 472.50 5.00

56-726000 Wheel Kit Ø190 6 - Chain 781.25 9.70

56-726100 Wheel Kit 190 6-Chain Spark Resist 1575.00 9.70

56-726200 Wheel Kit 190 12-Chains 781.25 11.30

56-726300 Wheel 190 12-Chain Long 781.25 12.00

56-726400 Wheel Kit 190 18-Chains 781.25 11.40

56-727000 Spare part kit Rubberring Ø190 89.00 5.00

56-727500 Switch DAF 157.50 0.95

56-728000 Wheel bearing kit 89.90 5.00

56-728500 Vehicle bracket kit Hino Profia 971.25 22.25

56-731500 Distance plate T=3 6.40 0.11

56-734600 Wheel disc upper& lower parts 171.25 5.00

56-734800 Vehicle bracket kit DAF CF, XF Euro 6, FT 971.25 22.80

56-735500 Vehicle bracket kit ISUZU Giga 6x2 971.25 20.20

56-735700 Vehicle bracket kit Hino Profia 971.25 25.90

56-737600 Vehicle bracket kit Volvo RADD-GR 971.25

56-737900 Vehicle bracket kit Hino Ranger 971.25 19.50

56-738300 Vehicle bracket kit Scania P, G, R, T, L-series 971.25 20.80

56-738600 Vehicle bracket kit Terberg YT182, YT223 1128.75 22.70

56-739000 Switch kit MAN TGX TG3 157.50 0.70

56-739100 Vehicle bracket kit ISUZU Forward 971.25 21.30

56-739400 Vehicle bracket kit MAN TGL 971.25 19.40

56-739500 Switch Iveco S-Way 157.50 0.09

56-739800 Vehicle bracket kit Mercedes-Benz Sprinter 4xx 971.25 19.80

56-740700 Vehicle bracket kit MAN, Neoplan 971.25 11.00

56-740900 Vehicle bracket kit Iveco X-Way 971.25 33.00

56-741400 Vehicle bracket kit Iveco Daily 50C 971.25 17.50

56-742000 Vehicle bracket kit Iveco Eurocargo 971.25 20.40

56-742600 Vehicle bracket kit Terberg YT223 971.25 21.49

56-742700 Vehicle bracket kit ISUZU Giga 971.25 24.80

56-743000 Vehicle bracket kit Terberg YT193 971.25 22.30

56-743600 Vehicle bracket kit MAN TGM 16D, 26D 971.25 17.70

56-743900 Vehicle bracket kit Iveco Eurocargo 971.25 15.10

56-744500 Vehicle bracket kit Mercedes-Benz Atego New 926.25 21.00

56-745000 Vehicle bracket kit Scania 971.25 23.80

56-745500 Vehicle bracket kit Ford F-Max 926.25 19.53

56-745800 Vehicle bracket kit MB E-Actros MP5 971.25 33.00



Preisliste «OnSpot»

01.02.2023 | Seite 13 von 13

Sales Part No Sales Part Description
CHF Brutto exkl.

MWST. Gewicht (kg)

56-746100 Vehicle bracket kit Volvo RADT-KR 971.25 24.42

56-747100 Vehicle bracket kit Daewoo Maximus 971.25 31.80

56-747200 Vehicle bracket kit Volvo FM/FH Electric RADT-GR 971.25 23.00

56-747900 Vehicle bracket kit Mercedes-Benz Actros MP5 971.25 27.34

56-748300 Vehicle bracket kit Mercedes-Benz E-Actros MP5 971.25 33.40

56-748600 Vehicle bracket kit Mercedes-Benz Actros MP5 971.25 29.00

56-748900 Vehicle bracket kit Renault Range  D 971.25 30.63

56-749300 Vehicle bracket kit Mercedes-Benz Atego 925.00 26.36


